Tying It All Together
A function f(x) defined on the interval 
[image: image1.wmf]4

4

£

£

-

x

 is shown below.
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1. Find the following limits:
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2. True or false?  The limit 
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 exists.  Explain.

3. True or false?  The limit 
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 exists.  Explain.

4. Estimate 
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5. On what interval(s) is 
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6. On what interval(s) is 
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7. On what interval(s) is 
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Suppose that a function g(x) is defined by the integral 
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8. At what value(s) of x does g have a local maximum?

9. At what value(s) of x does g have a local minimum?

10. On what interval(s) is g increasing?
11. On what interval(s) is g decreasing?

12. On the interval 
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, is g concave up or down?  Explain.

13. What is the value of 
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14. What is the value of 
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15. Suppose that another function h is defined to be 
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.  How are the graphs of g and h related?
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